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(a) XM [2,3] T f(2) = fo, f(3) = f3, f1(2) = do, f'(3) = d3 72T AT T4 Vil
f(z) &2, B o, d1,%0,01 & fo, f3,d2,d3 2 FHNTERE.

(b) KM [0,5] T f(0) = fo, f(5) = f5, [(0) = do, f'(5) = ds ZWi7=F AT F 1 HiH
f(z) 2, BB @, d1,¢0,¢1 & fo, f5,do, ds ZHNTRE.

(c) K [2, 7] T £(2) = fo, £(7) = fr, f1(2) = da, f/(7) = dy 2725 AT T4 Vi
f(z) 2, BB, d1,¢0,¢1 & fo, fr,do, dy ZTHNTRE.
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po(z) =20 =322 +1, ¢1(x) = —22° + 322,

Yo(z) = 2% — 222 + 2,  Yy(x) = 2% — 22
THAGNS. UTFORWIZEA K. (6 )
(a) K [3,4] T f(3) = f3, f(4) = f1, f'(3) = ds, f'(4) = dy ZWi7=FT AT 71 VHiH
f(z) &, BB o, d1,%0, 91 & f3, fa,d3, dy 2 FHNTERE.
(b) B[ [0, 5] T f(0) = fo, f(5) = f5, f'(0) = do, ['(5) = d5 ZiiiT= T AT T 1 VA
f(z) %, BB o, d1,%0, 91 & fo, f5,do, ds 2 FHNTERE.
(c) K [3, 8] T f(3) = fs, f(8) = fs, f'(3) = ds, f'(8) = ds ZWiT=T AT 71 HilH]
f(z) &, BB o, d1,%0, 91 & f3, fs, d3, ds 2 FHNTERE.
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